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plf_,g_l:=Expand[D[f,a]D[g,b]-D[g,a]D[f,b]];

gobgon

e[f ,g ]:=Module[{s,nf,nqg,fl,vl,n},
(If[VectorQ[f], Map[e[#,9]&,f],
[lf1=Expand[£f];

(gl=Expand[g];

O0nf=lowest[£f1l];

U0ng=lowest[gl];

(s=0;
(Jrf[SameQ[g,0],trunc[£fl,maxord],
[(JJFor[n=Floor[ (maxord-nf)/(ng-2)]
I:”:”:”:I ’ n>=0 ’ n=n-1 ’

O 0s=trunc[£f1+
O0000p[s,trunc[gl,maxord-n* (ng-2)-nf+2]]/
0000 [O(n+l),maxord-n*(ng-2) ]
000 ;

O00s

0717

01;

0
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trunc[f ,ord ]:=Module[{},
[JIf[VectorQ[f],Map[trunc[#,0rd]&,f],
[[If[SameQ[£f,0],0,

[Jselect[Expand[£f]+1,

[JExponent [#,a]+Exponent[#,b]<=ord &]-1]
011

O

googgobgd

lowest[f ]:=Modulel[{g},
[JIf[VectorQ[f],g=Map[lowest[#]&,f];
JMin[Select[g,# != 0 &]],

[[IMin[ Exponent[Expand[f],a,List]+
[JExponent [Expand[f],b,List]]1]1;
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logmap[v_List]:=Module[ {g},
[Jg=Integrate[v[[1]],b];
[JExpand[g-Integrate[v[[2]]+D[g,a],al]
g

[
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logmapall[w List]:=Module[{g,n,v,v1,wl},
[g=0;

[lwl=trunc[w,maxord-1];

[lv=wl;

[While[vl=v-{a,b};

(n=lowest[Vvl];

JJn>0&&n<maxord,
(Jg=g+logmap[trunc[vl,Min[maxord-1,2n-2]1]11];
(v=e[wl,-g]];

[JExpand[g]];
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nonsecularterm[f ]:=Module[{m},
[ISelect[f,Not[MatchQ[#, (a"m Integer b"m Integer) ]]&]
01;

0

gooooopg

diagleft[f ,maxorder ]:=Module[{g,gl,hl,hul,h,u,ul,n,gd},
[Imaxord=maxorder;

[u={a,b};

[lg=trunc][ f,maxord];

[Jh=0;

[While[n=lowest[g];

U0n>0 && n<=maxord,
(Jhul=trunc[g,Min[2n-3,maxord]];
[[[Jul=-nonsecularterm[hul];
[[Jhl=hul+ul;

[[Jh=h+h1;

(gl=e[e[{a,b},ul],g];
(0If[Not[SameQ[hl,0]],gl=e[gl,-h1]];
[g=logmapall[gl];

(lu=e[u,-ul];
(01;Expand[{logmapall[u],h}]];
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